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= 15,000
= 3,600
i 8,400
MetFsY ASHEs XN2AE 80,000 0 80,000
201 28t=3d| 50,000 0 50,000
01 At22tel] 50,000 0 50,000
Oretdsdtz 85 0BIE
50,000,000 *14| 50,000
301 LetE2d= 30,000 0 30,000
1 EAMHIKE S 30,000 0 30,000
OFSASYRBAS(DS)
50,000+ 1002!+63] 30,000
LIS SHUALSEN 5,008,574 4,605,503 403,071
= 406,032
7l 1,432,000
= 211,476
i 2,959,066
adgs JENE 2SE N 10,250 10,800 A550
& 2,050
[ 8,200
201 Let23| 10,250 10,800 2550
& 2,050
[ 8,200
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SN sFLL
Y SE=XEN U L0
&P FEAsAFLHYSAHQUASEEN (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 A2t 10,250 10,800 2550
ORFEYs HBAR PSE AL
10,250,000 10,250
& 2,050
i 8,200
HEHRENES N2AE 1,172,000 0 1,172,000
Jl 1,172,000
301 LBtE2NS 1,172,000 0 1,172,000
Jl 1,172,000
14 JIEt2d= 1,172,000 0 1,172,000
OFBSHEZ XA
1,172,000,000& 1,172,000
7l 1,172,000
S EsEEEXNE2SAMY 18,000 18,000 0
& 3,600
i 14,400
201 et23| 18,000 18,000 0
& 3,600
i 14,400
01 Al 22| 18,000 18,000 0
ONBYSATLT 23
10,0002 *150@1+ 12 18,000
= 3,600
i 14,400
I SEAHAIZ AL 274,000 171,282 102,718
= 68,500
= 30,825
i 174,675
402 212tX=01H 274,000 171,282 102,718
= 68,500
& 30,825
i 174,675
02 QIZEXH=AIS 22 (01 - THE) 274,000 171,282 102,718
ORI =L XHXIZ A 274,000,000 274,000
= 68,500
& 30,825
i 174,675
Fllsg 8=t IHEBRSAAAE 116,081 247,681 A131,600
= 23,216
o 92,865
402 212tXH=01H 116,081 247,681 A131,600
= 23,216
o 92,865
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AN St
Y SE=XEN U L0
£Hel: ZEdssSdsHASEN CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
02 QIZEXEAMLE X (0| M) 116,081 247,681 A131,600
OSII=e HEsIt IIBRE X
165,830,000 *70% 116,081
= 23,216
= 2,865
EdsgiE 260,000 260,000 0
| 260,000
301 Let2d&3 260,000 260,000 0
| 260,000
14 J|Et243 260,000 260,000 0
Orlet A= MY XIS ALY (740ha)
260,000,000& 260,000
| 260,000
Tt setE dES S4XE 30,303 0 30,308
= 9,091
o 21,212
301 EtEdEZ 30,303 0 30,303
= 9,091
o 21,212
14 J|Et2 A2 30,303 0 30,303
Ozlstd=ag MeEEs SEXJAE
30,302,400& 30,303
& 9,091
= 21,212
Pe|UMAX AL 4,200 21,560 A17,360
= 840
o 3,360
402 CIZHRHE0|A 4,200 21,560 217,360
= 840
o 3,360
02 QIZENEAMLE X (0IX ) 4,200 21,560 217,360
O CILMAXIRALS
400,0003 x15ha*70% 4,200
& 840
= 3,360
SN K& 489,240 439,240 50,000
= 337,532
& 75,854
= 75,854
402 QIZERHE01A 489,240 439,240 50,000
= 337,532
= 75,854
o 75,854
02 QIZENEAMLE X (0IX ) 489,240 439,240 50,000
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A sS40
HM: SESSE L Yo
Pl e dsUSEgASHUASEN (CHo|: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OE NSRRI A (1,300€)
489,240,0002! 489,240
= 337,532
[ 75,854
= 75,854
SIIZHIZ X 330,000 330,000 0
[ 66,000
= 264,000
402 QI2HXH=20| & 330,000 330,000 0
[ 66,000
= 264,000
02 SIZFRFE A E R (0| M THS) 330,000 330,000 0
ORJI&HlE XI& 330,000,000 330,000
[ 66,000
= 264,000
SIIEHI2 KIS (HEAIY) 2,304,500 2,304,500
201 LB 4,500 4,500 0
01 AF222IHI 4,500 4,500
ORIIZHIZ ZEBA
500,000 *4Z*23] 4,000
ORIIEHIZ ao2s 29
100,00024x501%13] 500
402 QI2tXH201 M 2,300,000 2,300,000 0
01 BIZFRF2 AN S R (RHRITHSY) 2,300,000 2,300,000
ORI EHI2XAAS (HBHAFY )
2,300,000,000& 2,300,000
ZNEE HYZAS MAD|HIERY 9,603,961 8,475,770 1,128,191
= 774,620
z 310,000
7l 814,173
[ 852,383
= 6,852,785
ZA2 I A3t 2,247,236 1,608,847 638,389
z 310,000
7l 88,855
[ 54,914
= 1,793,467
ZEH M2 EKY 13,400 10,800 2,600
[ 2,680
= 10,720
307 2I2H0| & 13,400 10,800 2,600
[ 2,680
= 10,720
02 QIAAAIIE R 13,400 10,800 2,600
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AN St
Hu: MHA HEENS MAD|BEA
£Hel: SME WS 25 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
O=% 202 0= DAY
800,000& *21= 2t+50% 8,400
= 1,680
i 6,720
Os28X ==& 28HI8 X
200, 0002 *505*50% 5,000
& 1,000
i 4,000
SIRMASH 5,000 11,500 26,500
= 1,000
i 4,000
307 212t01& 5,000 11,500 26,500
& 1,000
i 4,000
02 CIZHEAAIRIE X 5,000 11,500 26,500
OdY o B2t |FHAY
250,000 *205 5,000
& 1,000
i 4,000
SR XIFAM 9,000 15,000 26,000
= 1,800
i 7,200
307 212t01& 9,000 15,000 26,000
= 1,800
i 7,200
02 QIRHBAIAMHE R 9,000 15,000 6,000
OB2E20| XA
100, 0002 121x180 L *50% 9,000
& 1,800
i 7,200
SILEEAMS 36,800 37,800 A1,000
= 7,360
i 29,440
307 212t01& 36,800 37,800 A1,000
= 7,360
i 29,440
02 QIRHBAIAHE R 36,800 37,800 A1,000
OSI2SEAY 8,000 4, 6005 36,800
& 7,360
i 29,440
SOFAl AAke SEAFALY 7,000 5,600 1,400
= 1,400
i 5,600
402 CIZHRHE0|A 7,000 5,600 1,400
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PN sHbt
M e HYFLS HAD|BERY
Rl BAE JESH A (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 7,001
o 16,546
307 eI2+o| & 59,092 55,200 3,892
7 35,455
& 7,091
o 16,546
02 CIZHEAAIRIE X 59,092 55,200 3,892
OgtuSF=A X3 AE 59,092,0002 59,092
7 35,455
& 7,091
o 16,546
= HAKE FMeldl XI& 15,000 15,000 0
== 3,000
o 12,000
402 QI2EXH=0|H 15,000 15,000 0
== 3,000
o 12,000
02 CIZEXI= AL B (0| M THS) 15,000 15,000 0
OJt= HAEH2IIl 8X1 K&
30,000,000 *1CH*50% 15,000
& 3,000
o 12,000
D= B3AE 16,000 16,000 0
== 4,000
o 12,000
402 QI2EXH=0|H 16,000 16,000 0
== 4,000
o 12,000
02 CIZEXI=2AIH B (0| M THS) 16,000 16,000 0
OMMEL0IE It=EY Y 2RERD|&IC
A AL 20,000, 0002 *80% 16,000
& 4,000
o 12,000
SR =S (KA 1,239,285 1,257,965 A18,680
307 SI2t01 & 353,200 321,200 32,000
02 QIZHEAAIRIE X 353,200 321,200 32,000
OMMRAIE E=ETH XI&
2402%225,0000H*50% 27,000
OGtAHl AlZ2Z2 MHIEAl =4 2tz A
100,000,000 *50% 50,000
OgZE LA XJAAS 85,000,0002 85,000
OSI20HHY SHXIAAL
4,000,000 %105 1+80% 32,000
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SN ==
ME: ZEA HEEAS MAD|BIEN
Col: =AZ FM 2435} (chel: x421)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OSaer MArs) T AIAATY
1,5002*8, 000 *50% 6,000
Oste HEE A 30,000,0002 30,000
OB AMLE ALY
25,00021%1,0005*80% 20,000
OBtLHHIAF 40,000 %4005 +60% 9,600
ONIEt? SJt SBASE 222 KAAY
600, 0002125 I F+50% 3.600
Ot &IXEIAIA 40,000,0002 40,000
ORJIste AW X
20021%500 , 0000H*50% 50,000
402 BIZERF=0[ X 886,085 936,765 50,680
01 QIIXHZ A B (XA THE) 886,085 936,765 50,680
ONYE = stMl HHE DlyzE X
= 12,0002 *3,0007H*80% 28,800
OAHE =ate) 2l X
100,000,0002! 100,000
OYL=2=It SH2HE XA
8,0002*62, 000kg*50% 248,000
ORLBHEEINSAIY KA
300, 0002 * 165 +50% 24,750
OYBASITE)| ZEHX XA
12,100, 00024 *20H A*50% 12,100
ORASI} QUHH X|2AY
50,00024% 1, 1007H*50% 27,500
OFASIE SABZMLAS (CHEE)
2,970,00024* 1 CH*50% 1,485
OXASIL UINE EXIKLAY
3,987, 50024 *8LH*50% 15,950
OTMRAIE. H| 2EALY
4021%5,000, 000kg 200,000
OHE AHBIQALY 2HH ZXIALY
95,000,000 95,000
OBt EAL 50,000,0002 50,000
O1S3 RF MR 2AALY
10,00024%10,0005*50% 50,000
OOIECe S&(H3H )| KA
5,000, 000254190k 22,500
O=GX AOLE ICT MZ =XI| AX| AlHAL
& 10,000,000 %1 4! 10,000
EAHSIE AFZEDHA K 13,500 15,000 1,500
= 2,700
2 10,800
402 QIZFRHRO0|H 13,500 15,000 1,500
[ 2,700
=z 10,800
02 QIEXHZ AL B R (OI BTN ) 13,500 15,000 A1,500
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SN sHLHL
3. e FZ=NE daery
ol SAME ZAH U (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=4s0H AZE I RI2AY
30,0002 *900kg*50% 13,500
& 2,700
i 10,800
FQHE0F ICT &858 N 60,000 0 60,000
Jl 45,000
& 4,500
i 10,500
402 BItAH=01 M 60,000 0 60,000
Jl 45,000
& 4,500
i 10,500
02 QIZEXH=AL 22 (01 - THE) 60,000 0 60,000
O=4H20k ICT B85 SHtAtY
150,000,000 * 141%40% 60.000
Jl 45,000
& 4,500
i 10,500
UL da JEAF 7,000 10,000 23,000
= 1,400
i 5,600
307 212t01 ™ 7,000 10,000 A3,000
= 1,400
i 5,600
02 QIZHHAAIEE X 7,000 10,000 A3,000
OREa dabgt ASAY
200,000 35 7,000
& 1,400
i 5,600
& KM 224 XN2AHE 7,560 7,200 360
& 1,080
i 6,480
307 2I2+0| ™ 7,560 7,200 360
= 1,080
i 6,480
02 QIZHHAAIEE X 7,560 7,200 360
O£ R&EH 224 XA
90,0002 *1205%70% 7,560
& 1,080
i 6,480
SUXsIH FHAS 18,000 18,000
207 A-IHEH] 18,000 0 18,000
01 H7EAH 18,000 18,000
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2N sHA
A R FHFAZ MAD|BtxY
Rl BAE JESH A (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OMEELX HE3 2 B2 =4 29
18,000, 000& 18,000
SR =M SHAKIR 60,000 0 60,000
201 LE23H| 60,000 0 60,000
01 At=22t2ld| 10,000 0 10,000
OE9Xl SH AL E24]
10,000, 000& 10,000
03 A2 FH| 50,000 0 50,000
OSSRl SH SALXIZ 50,000,0002 50,000
ADIE SAEE T4 AlY 100,000 0 100,000
s 50,000
o 50,000
402 CIZHRHE0|A 100,000 0 100,000
= 50,000
i 50,000
02 QIZENEAMLE R (01X M) 100,000 0 100,000
OADIE EAtEHE =& A g AEYA N
2I1E AlZHALY 100,000,000 100,000
= 50,000
o 50,000
=2 L J20HHE ADE AIFAIE XI& 280,000 0 280,000
s 160,000
o 120,000
402 CIZHRHE0|N 280,000 0 280,000
= 160,000
= 120,000
02 QIZENEAMLE R (01X M) 280,000 0 280,000
O=Y 2 3200 ADIE AFSAIE X1
At 400,000,000 174 2+70% 280,000
= 160,000
= 120,000
SEHIE SHEE 34 B2 200,000 0 200,000
s 100,000
= 100,000
402 CIZHRHE0|N 200,000 0 200,000
s 100,000
i 100,000
02 QIZENEAMLE X (0| M) 200,000 0 200,000
OBLEXE SHET Z4A & 2= AEA
200,000,000& * 1A 200,000
s 100,000
i 100,000
ZIEFF4 DBt S 2,755,980 2,198,515 557,465
= 14,880
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A SHA
M REA FYFAS MAD|EIEY
CHPls ASEFA D8y (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
J| 440,490
[ 270,521
2 2,030,089
ORI DEE HAZ2 MAH 136,910 34,310 102,600
201 LBty 9,910 9,910 0
01 AF2 22| 9,910 9,910 0
OLer2| 3,750
OSAAIZ2HE K018 014
1,00024%3,0005 3,000
OSAAIZ L DEDIEA B2 342 HF
50,00024*15% 750
OSHI(SAHHSH QREX)
8,000 *421%80A! 2,560
oYxtz 3,600
0RA BAEI EH3| 2&X12H
600,000 *3CH* 12 1,800
03 BIRELI LX)
600,000 *3CH*13] 1,800
202 Odd| 12,000 12,000 0
NETEEL 12,000 12,000 0
EAHHS R4
200,000 %401 128 9,600
O2EAY 2 0E LREX
150,000 x201x8 2,400
301 YBHEXZ 15,000 12,400 2,600
11 #AFAHIXIR 2 15,000 12,400 2,600
OSMAIY WS 2 HIIE S48
50,0002*602! 3,000
OF4HsOt 20U w28
150,000:24%802! 12,000
401 Al&H| L2 100,000 100,000
01 Al&Y 100,000 100,000
OF4a2 22 L HERA M= 84X
100,000,0002! 100,000
U= ARA DI A ALY 250,000 314,645 64,645
[ 50,000
= 200,000
402 QIZFRHEO0IH 250,000 146,200 103,800
[ 50,000
= 200,000
EIEDNEIEEESFSIED) 250,000 146,200 103,800
OLSAEINEA 250,000,000 250,000
[ 50,000
2 200,000
SIIEL AL BHAL 200,000 220,000 20,000
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2AM:

.

S dEsRd Jlesd (Cto: M)
A - BH - ERI(S) - HRAIY - BAS Gl 2
307 212t01 & 200,000 200,000
02 QIRHBAIAHEE R 200,000 200,000
ORII=sete RIANE IHHEH
2,000, 0003 *2005+50% 200,000
AFTHOHARS 2HA 310,000 310,000 0
& 18,700
i 291,300
307 212t01™ 310,000 310,000 0
& 18,700
i 291,300
02 SIHBAANHEE 310,000 310,000 0
OJt= Toll2" X
310,000, 000& 310,000
= 18,700
i 291,300
SAAIE EH-ZOHE AL 56,400 7,200 49,200
& 1,140
i 55,260
402 QIZERHE0| A 56,400 7,200 49,200
& 1,140
i 55,260
02 CIZEXHEAIH B (0| X THEA) 56,400 7,200 49,200
OSAMAIE &)
600, 0002 * 188CH*50% 56,400
= 1,140
i 55,260
SHMSOHMIE 53,760 38,080 15,680
| 23,040
= 6,912
i 23,808
307 212t01& 53,760 38,080 15,680
| 23,040
= 6,912
i 23,808
02 QIRHBAIAHE R 53,760 38,080 15,680
Ostd SOHNIE X
320,000 *24021%70% 53,760
| 23,040
& 6,912
i 23,808
0] agea i o=l Nl 64,313 99,000 A34,687
307 212t01& 24,000 24,000 0
02 QIRHBAIAHEE R 24,000 24,000 0
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2N sHA
M R FHFAS MAD|BE
el EEFSL IRy (Crol: X 21)
SA B E(BH) - HRAY - BES o Gl HIDS2
OS0tNE XA
400,000 %12091%50% 24,000
401 AIEHIZL 20| 23,000 15,000 8,000
01 Al&d] 23,000 15,000 8,000
SOHEEAE FAE=+ 23,000,0002 23,000
405 XHoHESHI 17,313 60,000 N2 687
01 At 2 FFSHI 17,313 60,000 N2 687
Os0e s0Es1Y 17,313,0002 17,313
4 Li=H AL XA 10,000 10,000 0
307 2I12+0| A 10,000 10,000
04 DIZFSHALAIHE 10,000 10,000
OS] 1A X
25,0003 80021 *50% 10,000
AZ A XA 1,456,337 893,000 563,337
| 370,450
[ 147,305
o 938,582
101 Q1244 17,500 16,000 1,500
7 8,750
= 2,625
o 6,125
04 JI2tH22 RS2+ 17,500 16,000 1,500
OxAE SE 2L 17,500
0ol== 78,8802%101%138 10,886
| 5,443
[ 1,633
o 3,810
0FXt==g 78,8802 +101x302 2,367
7 1,183
= 355
o 829
0AX = 78,8802 x101x6 474
7 237
[ 71
o 166
OAEXIRY 408 =
3,773,000& 3,773
| 1,887
[ 566
o 1,320
307 2I12+0|A 1,438,837 877,000 561,837
7 361,700
[ 144,680
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SN sHLHL
Hu: MHA HEENS MAD|HEA
ol SIS D8Ry CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
i 932,457
02 QIZHHAAIEE X 1,438,837 877,000 561,837
OZXAtzdaE AFZel Xl MZHl X2
1,188,887,0002! 1,188,887
Jl 313,700
= 125,480
2 749,707
OZAZMAR EX7AH| X
249,950,000 249,950
Jl 48,000
= 19,200
i 182,750
TAE 2 Al E JIHIEH 180,000 260,000 80,000
Jl 45,000
= 40,500
i 94,500
402 212tX=01H 180,000 260,000 80,000
Jl 45,000
& 40,500
i 94,500
02 QIZEXH=AIS 22 (01 - THE) 180,000 260,000 280,000
OFAIMLIE DI 72 TR
450,000,000 *40% 180,000
Jl 45,000
& 40,500
i 94,500
SAAE &I dEEH KZAY 4,500 0 4,500
= 900
i 3,600
402 212tXH=01 S 4,500 0 4,500
= 900
i 3,600
02 Bl AHE ARG 2 (01X THS) 4,500 0 4,500
OFA &IIUEAIE 2= XE A
3,000,000 *3= I 1+50% 4,500
S 900
i 3,600
S0t LS NEAY 4,000 4,000 0
Jl 2,000
S 600
i 1,400
307 2I2+0| ™ 4,000 4,000 0
7l 2,000
= 600
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2AM:

M HEZAZ MAD|BIEA
Ak 4t Jlgtry (crol: ®al)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
= 1,400
02 QIFAAAIRIE R 4,000 4,000 0
OS20F ZHUSIAIY
5,000, 00024 15+80% 4,000
7l 2,000
[ 600
z 1,400
oY B2AHY 29,760 0 29,760
= 14,880
[ 4,464
z 10,416
EIEINEIRS 29,760 0 29,760
= 14,880
[ 4,464
z 10,416
02 QIZHXHEAIAE R (O THL) 29,760 0 29,760
OR40i2d BSXAAY
400, 0002 * 124 2+60% 29,760
= 14,880
[ 4,464
z 10,416
P NI I 411,168 200,697 210,471
= 2,000
[ 90,760
z 318,408
HEHESUSH 20k 54,888 50,697 4,191
101 QI124H] 48,888 44,697 4,191
M IIHR22ISEES 48,888 44,697 4,191
O28Hz e 48,888
== 78,880 21%301% 138! 32,657
0F=xt==< 78,880R%301x302! 7,100
0E Xt~ 78,880%301x6 1,420
0=21%= 32,657,000 %4 . 5% 1,470
0HZEE 32,657,00024%3.545% 1,158
IRSEE 32,657,00024%12.81% 4,184
01EZSH 32,657,000 %1.75% 572
O =ES 32,657,000 1% 327
201 LEH2HH 6,000 6,000
01 AFR2t2IHI 6,000 6,000
OSHHZEZX E22 o4
1,0002%1,0005 1,000
SHOR3X 40 L A2H HIE
1,000, 00024 %54 A 5,000
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SN sFA
M ZEH HIZLAE HAD|EIEY
Rl WS =M 24 3 2 (St M 2l)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
SAEQIYYF(HE) (HEAY) 200,000 150,000 50,000
L= 90,000
i 110,000
206 THZ=H| 200,000 150,000 50,000
& 90,000
= 110,000
01 M2 200,000 150,000 50,000
SAER HY SF(HE
200,000,0002! 200,000
& 90,000
= 110,000
A2 JALK EA GQUZAIR 22 2,000 0 2,000
= 400
i 1,600
301 YPtENS 2,000 0 2,000
= 400
= 1,600
14 JIEt243 2,000 0 2,000
OFA2 MK EAl HOZAIR 24
2,000,000 2,000
& 400
= 1,600
& &Xl At 151,080 0 151,080
401 AlEHIZL 08I 151,080 0 151,080
01 AlEHI 150,000 0 150,000
ONE Xl At 150,000, 0002 %14 A 150,000
03 AlZ =04 1,080 0 1,080
OAIEZ= 0l 150,000,000 0. 72% 1,080
Hegs N3 A 3,200 0 3,200
= 2,000
= 360
i 840
307 @12+0|& 3,200 0 3,200
= 2,000
= 360
i 840
02 QIZHAAMAHEL 3,200 0 3,200
O ESKIAA 100, 0002 %402 *80% 3,200
= 2,000
= 360
i 840
N =St=s A8 Ao} 1,185,445 1,397,188 A211,743
| 64,500
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AN St
Hu: MHA BEEMNS MAD|HEA
el Ad=stsHE st (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 74,330
i 1,046,615
SN2 RS 20,200 5,820 14,380
207 AN 19,000 0 19,000
01 ¢72EL| 19,000 0 19,000
OSSTHASL (BSME =8 S2EHIR
SUE) 01X EIgs 2
19,000,000& 19,000
301 LESBHZ 1,200 5,820 24,620
11 SARHIXIR S 1,200 1,200 0
ON=EEHMelus 4
20,0002 *2021%33] 1,200
sEhR dyl& =Y XA 120,000 105,000 15,000
| 60,000
& 30,000
i 30,000
307 212t01™ 120,000 105,000 15,000
| 60,000
& 30,000
i 30,000
02 CIZHEAAIRIE X 120,000 105,000 15,000
ONFES HHIAEH| X
300, 000&*400ha 120,000
| 60,000
= 30,000
i 30,000
2R Edl&EY XA 9,000 15,000 26,000
| 4,500
= 2,250
i 2,250
307 212t01 & 9,000 15,000 26,000
| 4,500
= 2,250
i 2,250
02 QIRHBAIAHE R 9,000 15,000 26,000
OJI==2k EdlaZdl XA
300,000&*30ha 9,000
| 4,500
= 2,250
i 2,250
S4otsIF 2SN N ALY 156,330 160,000 A3,670
& 12,330
i 144,000
307 212t01™ 156,330 160,000 23,670
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SA sS4
HI: ZEH HESAZS MADBIEY
el Ad=stsHE st (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
< 12,330
= 144,000
02 DIZEEAAIRIE R 156,330 160,000 3,670
OFAHs b 25X IfaE AL
5,0002 %62, 532kg*50% 156,330
[ 12,330
= 144,000
ST 2EXET KISIAL 589,875 724,600 A134,725
[ 23,750
= 566, 125
307 2120l 589,875 724,600 A134,725
[ 23,750
= 566, 125
02 DIZEHAAIRIE X 589,875 724,600 A134,725
O=pHsIt 22XETY KI2AY
190,000 %5, 545E*50% 526,775
[ 23,750
= 503,025
O=S2EHIREMEH st 22XE=TY X
2 200, 0002 *63 1 E+50% 63,100
=L AE2HR 260,040 256,768 3,272
301 YptEEZ 20,000 20,000 0
14 J|Ef2 A2 20,000 20,000 0
O==2EHIREMH AHAR 24 2 2=
T 2UIHE X3 20,0002%1,000H 20,000
402 DI2HKH=20| ™ 240,040 236,768 3,272
01 DIZFAHE AL B (RHHITHE!) 240,040 236,768 3,272
O==2EHIREME SHIZAY 22 X2 92,600
O &Y 26024470, 0000H*50% 61,100
OntiE 9,0002%7,0007H*50% 31,500
O=2EHIREMH AFHY 23 E 29
XI& 148,000, 00024 %50% 74,000
O=2EHIREMH 2221 22 X
200, 0002 *630 S +50% 63,000
Z2EHISSME AFLFA (DIMSH)
Tel xe 8, 7002 %2, 400L*50% 10,440
DS S NENETE ) 30,000 90,000 AB0,000
[ 6,000
= 24,000
402 DI2HKH=20| ™ 30,000 90,000 AB0,000
[ 6,000
2 24,000
02 IZHAHE A B X (01 M) 30,000 90,000 60,000
O=EELHlX 30,000
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A SFAD
M e HYFLS HAD|BERY
el Ad=stsHE st (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
EHIMel JIAHEY] X
30,000, 0002 *2I4 Z=*50% 30,000
== 6,000
= 24,000
IISEY L SS9 949,113 905,975 43,138
= 17,900
7 27,3%
& 57,072
o 846,747
IISHSEI2EHAMFA 105,880 105,880
201 2RI 5,720 5,720 0
01 AtR2telt| 4,520 4,520
OYAIIER ME 1,000 %2, 0002 2,000
OJtsedgols Ay
70,0003 *9021x43| 2,520
02 S=2Z| 1,200 1,200 0
O3=2] &ollE2& It 200,000 %601 1,200
206 =4I 30,600 30,600 0
01 H=H| 30,600 30,600
OJI=NEY Az a7y 5,600
0HOIBSHIE 2¢ 12,000 *300 4| E 3,600
0= QtetAl A4ERY
10,0002 x50 500
Oli=xcdls Hig-e 50,0002 *30AH 1,500
O7HY S AR 2
20,0002*1,0002 20,000
OJtsges 2 5,000 %5021x203] 5,000
301 LBEEZ 69,560 69,560
14 J|Et243 69,560 69,560
OJ=8gY A4X=E AAHIE X 19,160
0ZHH|AHE 220,0002%1224 2,640
OXter = 70,000 12A 840
0atHE 212 70,000 %201% 1224 1,680
0QrtAL & Hoty| 100,000& %2021 2,000
0glHE HIS 300,000 %4021 12,000
OUMEFAMEFME 29 X2
15,000& *2,4008| 36,000
O2DJI0I1EH HE MR X
9,600&*1,5005 14,400
259 =% 79,200 79,200 0
& 23,760
o 55,440
301 LESBHZ 79,200 79,200 0
& 23,760
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SN S=4Y
MM FEY FFHIMS MAD|BEES
ol JIREE 2 SMSY (CHR: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 55,440
14 J|EtE A 79,200 79,200 0
a9 ¢ 1,100,00024x601x 122 79,200
[ 23,760
= 55,440
ISR MAREXI 201,860 200,860 1,000
201 L2 S| 18,410 17,910 500
01 AF222IHI 18,410 17,910 500
O] 2,710
IEge s8E RS
15,0002 1000K 1,500
0IIEYS B S0 &
55,0004 111 SS*23] 1,210
O3 14,700
I EYAAR A 8,000 *501%80A! 3,200
((pJE=tle 8,000 *501% 1504l 6,000
VHZUMASOIY gt ZAl
500,0001%11JHS S 5,500
ORH=EAS 3|Rt2 A2
200,000 %53 1,000
202 Ot 12,000 12,000
NENCED 12,000 12,000 0
OJtEg A48
200,00021%501 122 12,000
301 Y2 A S 91,100 91,100 0
11 BAFAHIXI 22 3,000 3,000
OJI=e IS &4
20,0004+ 1501x103] 3,000
14 J|EI2 A3 88, 100 88,100 0
OA B4ty B
5,00094%5,0005 25,000
OIS HILEE Al
5,0002%6, 0005 30,000
ORJIsE 2528 33,100
0| 70,0002%8021 5,600
oSzl 14, 00021152 %802 16,800
OXIEH] 60,00024%8024 4,800
(= ININESS]] 50,0002 %502 2,500
OAFMIK eltl 5,000 10kg*5024 2,500
02&RIIA OISXE 30,0000%30AH 900
307 2I2H0| & 80,350 79,850 500
02 QIFAAAIIE R 78,950 78,450 500
OZ0HK| AArE Ol X|2
50, 0002 %5502 *50% 13,750

- 7% -




SA: sEAMD
HE: ZEd FHEAND MAD|PERY
ol JIREE 2 SMSY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OXA RYE L2
80,0002 *2507H*50% 10,000
ORASI} HASUR N
38,0002 x8007H*50% 15,200
OSH ZE2 ofgHal X
20,00024% 1,500 *50% 15,000
OsH SAIE XM X8
20,00024%2, 500 *50% 25,000
04 BIZFSHAIAIRI 2 1,400 1,400 0
OIS 22 =3 NI#AL X2
1,400,000 %151 100% 1,400
TROIERN} LAFZ 34,945 34,945
201 ZEr2H| 6,905 6,905 0
01 Al 22 1,206 1,205 0
OXRQIZ2AT EE2 HIZ(BH4Y)
55,00024* 110K 605
OMNBESTSHE SaE
50,0008+ 128 600
02 S22 5,700 5,700 0
OJI=geniz &yl & 42
50,0002 *3CH* 122 1,800
ORMA ASEH| 24
400,0002 %3702 1,200
OASRZ Yot 62 7Y
1,50024%202| E4+3CH*303] 2,700
206 THEHI 28,040 28,040 0
01 M2t 28,040 28,040 0
OXRIZZUN HOALSHME 7
12,0002 % 160M € 1,920
OAS8 M435| 7 5,5002%2, 0005 11,000
OXFOIZZN ASAE ¢
94,5008 1605 15,120
Z420(2i2t2] XIR(2DI] 012l AES=I) 52,868 36,960 15,908
pJ 26,434
S 7,931
z 18,503
301 YerERE 52,868 36,960 15,908
pJ 26,434
S 7,931
z 18,503
14 JIEHEAS 52,868 36,960 15,908
2101 012H AHBSH X
9,60024%4,513% 43,325
pJ 21,663
S 6,499
z 15,163
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SN ==
ME: ZEA HEEAS MAD|BIEN
SR JIEEY 2 SAMES/AM (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
A100] OIZHl AERE] DIXZ2E X2 (2
022'4) 9,6002%9945 9,543
7| 4,771
[ 1,432
2 3,340
= ALSHACCPZ & El 1,680 5,600 3,920
7| 960
= 216
2 504
307 QI2H0| & 1,680 5,600 3,920
7| 960
= 216
2 504
02 DIZFAANAIRI SR 1,680 5,600 3,920
OSA2 HACCP(sH) Kl AR
1,200, 00024 +20H A*70% 1,680
7| 960
= 216
2 504
opEE g GE=220| 4x X 3,000 3,000 0
[ 600
2 2,400
402 QIZERF20[ & 3,000 3,000 0
[ 600
2 2,400
02 QIFXH2AFI B (01 & TN ) 3,000 3,000 0
OI=EgAR H==220| 4% XY
60,0002 *100CH*50% 3,000
= 600
2 2,400
OIFAAZIOIE ZAHSIF U AR X 3,000 0 3,000
[ 900
2 2,100
402 QIZERF20[ & 3,000 0 3,000
[ 900
2 2,100
02 QIFXHZ AL B (OI R TN ) 3,000 0 3,000
OQIETZ|OIS EAHSIE L HIE X9 AL
g 5,000,000 * 1H A*60% 3,000
= 900
2 2,100
VY= AT ALY 360,480 360,480 0
206 X2H] 281,280 281,280
01 XH2H] 281,280 281,280 0
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A sS40
MM FEY FFHIMS MAD|BEES
ol JIREE 2 SMSY (CHR: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OBY = MAH(XSI], JIAISOH) Il
2 115,520
0XIED| 2 HMIA 1,000 76,8004 76,800
0JHAIZO0H 2HII 24, 20024%1, 6004 38,720
OBY=It RO olgXI
22,0002+6,400S 140,800
OBE=IH A= X2
26,0002 *960S 24,960
307 212+0|& 79,200 79,200 0
02 DIZFEAAIIE R 79,200 79,200
OBY=I AxZ XL
2,0002 %48, 0007H*50% 48,000
OBY =T HASAH XN
19,5002%3, 20071 *50% 31,200
27020 S43 2H| NAY 50,000 0 50,000
= 10,000
[ 12,000
= 28,000
301 LBEAS 50,000 0 50,000
= 10,000
[ 12,000
= 28,000
14 J|EtE A2 50,000 0 50,000
OZDA0| E435 2 XA
200,0002%2505 50,000
= 10,000
[ 12,000
= 28,000
SSESHH 29X 9,000 9,000 0
[ 900
= 8,100
301 LBEAS 9,000 9,000 0
[ 900
= 8,100
14 J|EI2 A2 9,000 9,000 0
O=28sHH 29 XY
9,000,0002* 174 A 9,000
[ 900
= 8,100
QIIRA=E Bel2E e X (AEPSHIXI) 10,500 10,500 0
= 3,150
[ 2,100
= 5,250
301 LBtEEa 10,500 10,500 0
= 3,150
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SN SEAD
M Y FHSNS MAD|BIEY
o©elr JIEEY Y SASHM (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
S - RASE ZeleaRd A (2] 1,500 0 1,500
= 750
& 225
= 525
301 YerBNZ 1,500 0 1,500
= 750
& 225
= 525
IPIEE= 1,500 0 1,500
ORI - RASS BelSEMHE X2 (L2H)
250,00024% 1021 60% 1,500
= 750
& 225
= 525
ZAS BHEA IMAIENS X2 6,000 12,000 6,000
< 2,000
z 4,000
402 QIR KHE01H 6,000 12,000 26,000
< 2,000
z 4,000
02 SIZFRHZ A 2 X (01 & T ) 6,000 12,000 26,000
OFNE TR ANENSE(HS, WEAL
S) X 10,000, 0002 * 17 A *60% 6,000
= 2,000
= 4,000
S4E BOISD AHE X2 1,000 1,000 0
= 200
z 800
201 ZBr2 | 1,000 1,000 0
< 200
z 800
01 A= 22|] 1,000 1,000 0
OIMNs EBE IE(2IBY, JI=R S)
M= X2 10,00021% 100 1,000
= 200
= 800
20| - RASES YUY XA 5,000 5,000 0
= 1,000
z 4,000
301 YerENZ 5,000 5,000 0
< 1,000
z 4,000
14 0IEt2 A2 5,000 5,000 0
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SA: SEA
Mo zla

el JlEE

= = = PSIE|
A - BB GRI(EI) - HRAY - BES 0l &t e ClimE=1

100, 000&*50¢! 5,000
1,000
4,000

MmN

ANEIEES 367,490 454,070 86,580
14,040
64,685

288,765

H H W

=4O 284 HOIZ XMelArd 3,980 4,490 2510
79
3,184

M H

301 LEEES 3,980 4,490 A510
796
3,184

M H

14 JIEH2 A3 3,980 4,490 A510
OFthsI 284 HII2 M2l 3,980
02N HolE X 1,0002*1,480kg 1,480
2%
1,184

Mo

250,000 %105 2,500
500
2,000

M H

AFUE 2l X 28,000 28,000 0
5,600
22,400

Mo

206 M=l 28,000 28,000 0
5,600
22,400

Mo

NET] 28,000 28,000 0
OFths0t AS%4E 2| X
80,0002+350% 28,000

5,600
22,400

M H

ASAE EX K& 12,500 12,500 0
2,500
10,000

Mo

402 SItXE01M 12,500 12,500 0
2,500
10,000

Mo

02 QIZHXHEAIAE R (O THR) 12,500 12,500 0
Osz 2217 AS)| AX| AFH XL

5,000,000 %57 2x#x50% 12,500
2,500

H
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2A:
X ZH
S

1]

FRNE ARy

o (Crol: F2l)

= [0
H rioe g
Sy
0z
0

Hh
0F o3

o I inE=Et

SA - FHE - SQ(FH) - HIRA - BAS Oll & Oil AboH

| 10,000

HJ

THE YES LAt 30,000 18,000 12,000
6,000
24,000

M H

w
=
1o
a
T
P
oy

30,000 18,000 12,000
6,000
24,000

Mo

14 J|Et2d= 30,000 18,000 12,000
ONEES Al=tl XI-

3,000& 10,0005 30,000
6,000
24,000

MmN

SOIXIEAE ASaH 1A 12,250 17,500 A5,250
2,450
9,800

M H

206 =4I 12,250 17,500 N5,250
2,450
9,800

Mo

01 =4l 12,250 17,500 A5,250
OS0MKIEAE AE8E X

35,000& #3505 12,250
2,450
9,800

MmN

JIEEEE olgefs X2 148,180 122,680 25,500
22,227
125,953

M H

206 M=l 148,180 122,680 25,500
22,227
125,953

Mo

01 =4l 148,180 122,680 25,500

148,180,000& 148,180
22,227
125,953

Mo

EESIH 88E A 64,000 64,000 0
12,800
51,200

M H

206 M=l 64,000 64,000 0
12,800
51,200

M H

01 M24l 64,000 64,000 0
OJIBHs (S 2SIt HYY oY X2

2,00024%32,0002 64,000
12,800

H
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SN sHLHL
HH: 2B HEEAS MADEEEA
St e e (Cto: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| i 51,200
2c| HY SZH AE 3,500 3,500 0
= 700
o 2,800
206 XH=Hl 3,500 3,500 0
& 700
[ 2,800
EEE 3,500 3,500 0
O2el piet ZUH 2
35,000&*100& 3,500
& 700
o 2,800
SE)| 2elsot Tl X 3,400 3,400 0
= 680
i 2,720
307 212t01 ™ 3,400 3,400 0
S 680
i 2,720
02 2B AEE X 3,400 3,400 0
Os&J| 2cls)t gedl X
200&*17,0000t2| 3,400
S 680
i 2,720
SAFASI 2e ~IH=EHHIE K& 5,000 25,000 220,000
= 1,000
i 4,000
301 Et2AS 5,000 25,000 220,000
& 1,000
i 4,000
14 J|Et2d= 5,000 25,000 A20,000
OggFf=It 218 +EHE N3
20,0003 *250== 5,000
& 1,000
[ 4,000
8ot Yl A2 8,800 11,000 A2,200
= 1,760
i 7,040
402 212tXH=01 S 8,800 11,000 A2,200
= 1,760
i 7,040
02 BIZAHE ARG 2 X (01X THS) 8,800 11,000 A2,200
OxZE=sIt g8 XA
440,000 »40CH*50% 8,800
& 1,760
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2A:
X ZH
S

> 10
e
Yoz

o =

Hh
0F o3

[eZ]
=

FRNE ARy

0

S LRE-ER

SHRASA) - MIRAIY - BES

PIE]=>
e

HJ

7,040

=AM KA (2=1E)

Mo W

15,840
7,920
2,376
5,544

15,840

5
[§)
e
N

=01

H H W

15,840
7,920
2,376
5,544

15,840

2 ol
O&HMEIEMel ALEHI(HAL =HE)

800, 0003 *337H*60%

H H W

15,840

15,840
7,920
2,376
5,544

15,840

DFEAIRI2IXI 2 AL (£ 1218])

H H W

12,240
6,120
1,836
4,284

12,240

307 212+0|&

HoH W

12,240
6,120
1,836
4,284

12,240

S
i

=xel AILEHI(HAL =HX
3,000&+6,8005*60%

HoH W

12,240

12,240
6,120
1,836
4,284

12,240

Ord== DTN X

Mo

19,800
3,960
15,840

19,800

206 M=l

M H

19,800
3,960
15,840

19,800

01 =4l

OOtMEE JIIIH X

33,000& 600K

M H

19,800

19,800
3,960
15,840

19,800

4

H

—_

,687,529

725,800
192,934
240,101

1,710,478

A22,949
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SA: SEAD
3. 2ed FZ=ME daery
CHol: JjEutoi Al (CHol: xol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o 528,694
IELESE 1Y 401,979 398,204 3,775
= 228,885
S 48,440
[ 124,654
206 M= Hl 245,979 242,204 3,775
= 150,885
& 25,040
[ 70,054
01 MH=H] 245,979 242,204 3,775
ONsgdauE 22 245,979,000 245,979
= 150,885
= 25,040
i 70,054
307 2I2+0| ™ 156,000 156,000 0
= 78,000
= 23,400
i 54,600
02 QIZHHAAIEE X 156,000 156,000 0
OEHXIM2HIOIA A BHal X3
2,000&*130,0005*60% 156,000
= 78,000
= 23,400
i 54,600
o SRAc0tE Z29E WE 2384l 105,000 104,000 1,000
= 31,500
= 31,500
o 42,000
301 Et2AS 105,000 104,000 1,000
= 31,500
= 31,500
o 42,000
14 JIEt2d= 105,000 104,000 1,000
O« ES4cE 288 WHEZFH X
15,0008 *7,0005 105,000
= 31,500
= 31,500
o 42,000
JlIesot 2dgael A2 6,000 6,000 0
= 3,000
= 900
o 2,100
307 212t01 ™ 6,000 6,000 0
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2AM:
PSE
o /e

chel:

kot
FIRLE dab|gtxd

AL

S o
b e

J
0% 0Y rx

2A BB O9(3) - MPAY -

5]

dEE
Ofl &b oK

Mo W

3,000
900
2,100

10,000, 0002 *17H 2=+60%

Mo W

6,000

6,000
3,000

900
2,100

6,000

Mo W

30,000
15,000

4,500
10,500

15,000

15,000

307 212t01&

H H W

30,000
15,000

4,500
10,500

15,000

15,000

10,000,000 57 2=+60%

H H W

30,000

30,000
15,000

4,500
10,500

15,000

15,000

H H W

87,500
70,000
8,750
8,750

87,500

HH W

87,500
70,000
8,750
8,750

87,500

=]
OaxzE 2az N

87,500,000

HoH W

87,500
87,500
70,000
8,750
8,750

87,500

S

M H

295,868
147,934

44,380
103,554

146,911

148,957

307 212t01&

S

H

295,868
147,934
44,380

146,911

148,957
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2AM:
X{XH -
o /e

cH):

o

o
0Z 0¥ >

'
HYSMS MADIBIEN

AL

J

S B SRI(BH) - HRAY - BAS

PIE]=>
e

HJ

103,554

295,868,000

S

MmN

295,868

295,868
147,934

44,380
103,554

146,911

148,957

S

MmN

90,000
45,000
13,500
31,500

180,000

90,000

402 2I2HXHE201

S

Mo

90,000
45,000
13,500
31,500

180,000

290,000

02 QIZEXHEAIE 2 (01X TH)
OCCTV & YAolmet 4x| K&
30,000,000 x5 2=+60%

S

Mo

90,000

90,000
45,000
13,500
31,500

180,000

290,000

H H W

17,820
8,910
2,673
6,237

17,820

307 212+0|&

HoH W

17,820
8,910
2,673
6,237

17,820

stz &

9,900 *300CH* 12 *50%

Mo W

17,820

17,820
8,910
2,673
6,237

17,820

SLXE GPS &Al MRASSHA 7=

Mo W

7,800
3,900
1,170
2,730

7,800

Mo W

7,800
3,900
1,170
2,730

7,800

14 JIEtE2 4t

H
>

0
oy

7,800

7,800
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60,0002 * 130CH

HH W

7,800
3,900
1,170
2,730

O
é
P
B>
H0
02

u)

HoH W

110,000
55,000
16,500
38,500

130,000

220,000

Mo W

110,000
55,000
16,500
38,500

130,000

/20,000

14 JIEtE2 4t

OSHM=4

110,000,000

Mo W

110,000

110,000
55,000
16,500
38,500

130,000

/20,000

Mo W

16,000
8,000
2,400
5,600

16,000

307 212t01&

Mo W

16,000
8,000
2,400
5,600

16,000

Mo W

16,000

16,000
8,000
2,400
5,600

16,000

THIS Bal X

40

H H W

176,250
123,375
15,863
37,012

174,772

1,478

307 212+0l&

HH W

176,250
123,375
15,863
37,012

174,772

1,478

1,900&15,0005*50%

176,250

14,250

174,772

1,478
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SH: SEA
3. 2ed FZ=ME daery
el RIS (Ctol: M2l)
SA - EHH - SR(E) - HRAI - BES Gl 2
= 9,975
= 1,283
o 2,992
OXgs FHA HAI(CHXI)
1,800 %180, 0005*50% 162,000
= 113,400
= 14,580
i 34,020
THS WAl XJ (ARSIt 7RIS A 81,107 54,385 26,722
= 56,775
= 7,300
i 17,032
206 XH=Hl 81,107 54,385 26,722
= 56,775
= 7,300
i 17,032
01 MZH 81,107 54,385 26,722
OLmtZ2sIt RS Bl
1,700& %47, 7105 81,107
= 56,775
& 7,300
i 17,032
THS A X (FHS WS A=) 96,000 84,385 11,615
= 48,000
& 14,400
i 33,600
301 LetE2d= 96,000 84,385 11,615
= 48,000
& 14,400
i 33,600
14 J|Et2 = 96,000 84,385 11,615
OZHE HgES Alstl X2
6,000& 16,0005 96,000
= 48,000
& 14,400
i 33,600
TR AL X (M ofleal e "B AI=HI( 66,000 57,540 8,460
&)
= 33,000
& 9,900
i 23,100
301 Let2d= 66,000 57,540 8,460
- 33,000
& 9,900
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14 JIEt2d= 66,000 57,540 8,460
OTHIS oleusl 28 HE AlEHI(SA)
11,0006, 000+ 66,000
= 33,000
& 9,900
o 23,100
THS A X (FHS HAHE AEH A 25HH) 50,205 75,161 N24,956
= 25,455
& 7,425
i 17,325
206 M= Hl 50,205 75,161 A24,956
= 25,455
& 7,425
i 17,325
01 =4 50,205 75,161 A24,956
OTFHS HABHS AEA 234K
50,205,000& 50,205
= 25,455
& 7,425
i 17,325
TR Al X (A M HE]) 50,000 13,000 37,000
= 15,000
& 10,500
i 24,500
301 LetE2d= 50,000 13,000 37,000
= 15,000
= 10,500
i 24,500
14 JIEt2d= 50,000 13,000 37,000
Ox 2N HEH(HYs)
10,000 5,000 50,000
= 15,000
= 10,500
o 24,500
HASE 2495 =4 2,950,148 3,829,321 A879,173
= 390,700
& 879,255
i 1,680,193
dEsE & AHsHE 285 2,950, 148 3,829,321 A879,173
= 390,700
& 879,255
[ 1,680,193
HEsEge=d 17,720 20,520 22,800
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201 LBH2 A 7,520 7,920 2400
01 AF222IHI 7,520 7,920 2400
OSEH(HY=Z=ARFA)
8,0002%301+80A! 1,920
ORI U FEUDATAAIY MAREE
100,00021%421%23] 800
OQZQIHED2X BFAl AL X2
500,000 +63] 3,000
ORAZoIHE22K} S X
300,0002+63] 1,800
202 O4H 10,200 12,600 A2,400
01 2LH0| 10,200 12,600 A2,400
ONsEAREX
200,00021%301 122 7,200
OZAIRl S&ERX| 223 S
300,0002%201x53] 3,000
HSHAE QX XL 150,059 221,000 AT0,941
[ 45,018
= 105,041
101 Q124 38,524 33,210 5,314
[ 11,558
= 26,966
04 2RISR 38,524 33,210 5,314
OFSHENHAH M 38,524
0123 78,8302%101x242x 128 22,718
[ 6,815
= 15,903
=S ES= 78,8804 101x52 % 128 4,733
[ 1,420
= 3,313
0 XIA=S 78,8802 101x 1212 947
[ 284
= 663
0522F=g 78,8802 %101x20 2+ 150% 2,367
[ 710
= 1,657
0=2%= 2,367,000 % 12&*4., 5% 1,279
[ 384
= 895
022 2,367,0002* 1224%3.545% 1,007
[ 302
= 705
BIRLEE 1,006,00024%12.81% 129
[ 39
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90
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285
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36,435
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2,435,000

03 HAH2EH|
o

6,000,000& 42

M H

Mo

M H

12,435

10,000
3,000
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2,435
730
1,705
24,000

24,000
7,200
16,800

29,690

29,000

A17,255

/5,000

Mo

1,500
450
1,050

5,500

24,000

14 J|Et2a=
OFsHE sUIFIt =248 X
15,0002 1002

M H

1,500

1,500
450
1,050

5,500
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51,520

123,600
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123,600
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NH: NYsE seis) 2A
P MASE 2 ASHE 253 (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
sSE0M 2020 24|
1,950,000 *4 )t 1+6 2 46,800
& 14,040
2 3,760
OSE0IM A0H2D| BOHR ei4Hl L 012
o14lE= 70000084} 7462 16,800
= 5,040
i 11,760
OF=THEIES 84 T
10,000,000 10,000
& 3,000
i 7,000
FHsHE s SsEF AT 75,000 65,000 10,000
402 212tX=01H 75,000 65,000 10,000
01 BIZAHE ARG B (KFHITHA) 75,000 65,000 10,000
Otlr=sgo SsEHAE
5,000,000 * 157+ 75,000
FsHELFECIHI N AAS 50,000 50,000
402 BIZtAH=01 M 50,000 50,000 0
01 QIEXtE A 22 (RHITH) 50,000 50,000
OFsFHE Feiselyl X
5,000,000 * 10747 50,000
7l=2! OlAM] X1 20,000 20,000
402 212tXH=01H 20,000 20,000 0
01 BIZ A= ARG B (KFHITHA) 20,000 20,000 0
OF=2l OlAtHl XIR
500,000 *40t- 20,000
sl ol & NEA 15,000 15,000 0
& 4,500
i 10,500
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& 4,500
i 10,500
02 I B AP E X 15,000 15,000 0
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= 4,500
i 10,500
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< 1,110
i 2,590
301 LetE2d= 3,700 3,700 0
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i 2,590
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43,200
100,800

Mo

02 QIHH&AIEE X 480,000 400,000 80,000

480,000,000 480,000
336,000

43,200
100,800

HH W

Fdsgel FHsA=H 36,000 60,000 224,000
10,800
25,200

MmN

307 212+0|& 36,000 60,000 A24,000
10,800
25,200

M H

02 RIHEAIAHE X 36,000 60,000 224,000
=

1,000,000 +32!x12& 36,000
10,800
25,200

Mo

S Hs sAl gz N2AE 8,000 0 8,000
2,000
6,000

Mo

307 212+0|& 8,000 0 8,000
2,000
6,000

M H

02 BIZHE A E L 8,000 0 8,000
OFEZA=s =X JUE XN&
1,000, 000:& *10ha*80% 8,000

2,000
6,000

M H

SHISEHLEE XM 5,000 42,000 237,000
3,000
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1,400

HoH W

307 212t01& 5,000 42,000 A37,000
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1,400
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1,400

Mo W
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sgol s&Y Holddl &
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35,000
10,000
25,000

35,000

M H

35,000
10,000
25,000

35,000

02 2IREXFEAIE 2 (01X T

Os=gol s&g HoF|
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A&
500, 0002 *100CH*70%

M H

35,000

35,000
10,000
25,000

35,000

SESSMHIAEEsE XIZAY

Mo W

66,000
46,200

5,940
13,860

90,000

224,000

307 212t01&

Mo W

66,000
46,200

5,940
13,860

90,000

24,000

66,000,000 %100 2

Mo W

66,000

66,000
46,200

5,940
13,860

90,000

24,000

M H

14,260
7,130
7,130

14,260

307 212t01&

Mo

14,260
7,130
7,130

14,260

1,426,000& 102!

M H

14,260

14,260
7,130
7,130

14,260

SHII=R0! XIZA

M H

26,775
6,300
20,475

26,775
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26,775
6,300
20,475

26,775

26,775

26,775
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ool MESE 2 ASHE S23 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OsHItE=<0I X1~
70,0003 *521+x00 +85% 26,775
& 6,300
o 20,475
Od=sgel SAHRM XZA 36,000 36,000 0
= 13,500
o 22,500
301 Et2AS 36,000 36,000 0
& 13,500
i 22,500
02 ALRI2EE LGS (FIAAS, XL 36,000 0 36,000
OWE=22l EMHIRH XA
800,000 #5219 36,000
& 13,500
i 22,500
Hdsgel U2 AEA 600,000 300,000 300,000
= 180,000
o 420,000
301 Et2HS 600,000 300,000 300,000
= 180,000
i 420,000
14 JIEt2d= 600,000 300,000 300,000
O0d=eol H*H XI&
200,000 *3,000¢! 600,000
& 180,000
i 420,000
=0IZZ2N 22EY XZAE 48,000 70,000 A22,000
= 14,400
i 33,600
201 28t=3d| 8,000 10,870 A2,870
= 2,400
i 5,600
01 At22tel] 8,000 10,870 A2,870
OL=IHEZZX 0lSnSHI
1,000, 0002 %83 8.000
& 2,400
i 5,600
301 LBtE2NS 40,000 25,848 14,152
= 12,000
o 28,000
14 JIEt2d= 40,000 25,848 14,152
Q=eIS= HIE K&
30,0002 %1002 3,000
S 900
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ODFRAAL HIZ X 20,0002*1002! 2,000
= 600
z 1,400
OMEE s XA 250,0002%1009Q! 25,000
< 7,500
2 17,500
OMY= =8 22X £= 222 XY
200, 0002455091 10,000
= 3,000
z 7,000
NER ASHE AFBR(USII2) 1,000,000 0 1,000,000
< 500,000
2 500,000
201 ZErE ] 24,000 0 24,000
< 12,000
2 12,000
01 AFR2t2lH] 24,000 0 24,000
OMET 7= ArEstD 2|
12,000, 0002 12,000
= 6,000
z 6,000
OMET AsAAZ AE8D 3222 S
12,000, 0002 12,000
< 6,000
2 6,000
401 A& 81 L= 0HY] 976,000 0 976,000
= 488,000
z 488,000
01 Al&H 976,000 0 976,000
OMET ASAAE AEST 2L ALY
976,000, 0002 976,000
= 488,000
2 488,000
HE =0l JRLIEI 245 DA 9,230 0 9,230
< 1,846
2 7,384
307 SI2t01 & 9,230 0 9,230
= 1,846
z 7,384
02 BIRIZAAEEE 9,230 0 9,230
OFUSNs HILIE 2a3 IR
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= 1,846
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SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEAHL 4,020,000 5,303,465 A1,283,465
sE=XsH 4,000,000 5,285,965 1,255,965
== E N II2SE3H) 4,000,000 5,255,965 1,255,965
SYAS 4,000,000 5,255,965 1,255,965
4,000,000 5,255,965 1,255,965
= 4,000,000 5,255,965 1,255,965
s EXXEAY
4,000,000,000& 4,000,000
20,000 47,500 227,500
IISSE3IA) 20,000 47,500 227,500
20,000 47,500 A27,500
20,000 47,500 A27,500
01 ZEHoBIY 20,000 47,500 A27,500
IS SAALY 0ldIH]
20,000,000 20,000




